STATEMENT OF WORK SM-000-220-001 ADA

pathways

Historic St. Mary's City

18559 Higaboom Lane, St. Mary's City, MD 20686

Table of Contents

Clause Number	Clause Name	Page No.	
1.	BACKGROUND	2	
2.	SCOPE AND DECRIPTION OF WORK	2	

1. BACKGROUND

Historic St. Mary's City is a living history museum that sits on 850 acres along the banks of the St. Mary's river in St. Mary's County Maryland. It is Maryland's first capital established in 1634.

The mission of the Historic St. Mary's City Commission is to preserve and protect the archaeological and historical record of Maryland's first colonial capital and to appropriately develop and use this historic and scenic site for the education, enjoyment, and general benefit of the public.

The project consists of approximately 1.5 miles equaling 73 thousand square feet of removal of, and repaying of ADA paths around our facility

2. SCOPE AND DESCRIPTION OF WORK

The project consists of the following elements:

- Remove exiting pavement
- Remove any roots to a depth of 8 inches by certified tree expert to mitigate damage to existing trees and shrubs.
- Add additional sub base where needed and pack to State highway specs and level and smooth.
- Install new paving to specifications, Level and smooth
- Paint paths with coatings –Bedrock and Campground as indicated on plans
- Clean out ,repair and replace any damaged drainage pipes, spill ways and swales
- Bring in clean top soil for edges according to plans
- Install new benches to specifications
- Lighting?

Paved paths existing	width	length	sq ft
State house	5	182	910
Aldermanbry	10	1245	12450
Middle Street	10	605	6050
Town center widening	10	150	1500
Mill Street	10	430	4300
Chapel Street	10	1303	13030
Chapel path	5	123	615
Chapel pavilion path	5	78	390
Van sweringers lane	5	367	1835
Print house street	10	476	4760
Print house path	5	142	710
Codeas path	5	111	555
Howard barn path	5	70	350
Service Road D	10	250	2500
Service Road C	10	227	2270
Service Road B	10	767	7670
Service Road A	10	1087	10870
Visitors Center path	5	347	1735
		7960	72500
Proposed paths			
Service Rd A extended/Smiths	10		0
Mill Street extended	10	403	4030
Pavilion path north	5		0
Pavilion path south	5		0
Middle street extended	10		0
Water fountain path TC	5	20	100

